Tidying up Data

* Writing trees for SDDs
 Checked waveforms

* Checked timing

amplitwde / adc units

amplitwde ! adc units

amplitude ¢ adc units

1800

1600

140

1200

[LEEE

z

:

o
&

7

:

1400

:

) -
B | II|IIII|IIII|IIII|IIII|IIII|II

180

160

140

E (1, 5) keV

8
g
m
A
v

clock ticks

E = (1000, 11.0) keV

clock ticks

E « (18.6, 18.8) keV

clock ticks

SO

2500

1500

[LEEE

160

1400

1200

[LEEE

A0



E (1, 5) keV

:
-'I|III|III [

plitude / adc units

(Trying to) L
Clean up Li-Data

* Writing trees for SDDs

E = (1000, 11.0) keV

e Checked waveforms HAl @ 10.7 keV

* Checked timing
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Some

Waveforms...
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Tried to improve timing...
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Timing with ELET

ProjectionXZ of biny=1 [y=0.5..2]
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